
The energy wasted 
from a compressed air 
leak the size of  a match 
head is responsible for 
yearly CO2 emissions 
equal to the weight  
of  an elephant. 

Fix it and you’ll make  
all the difference.

For more ways to help combat  
climate change at work visit   
www.carbontrust.co.uk

Match head = 1.6mm. 1.12kW to recompress air lost. 1.12kW x 24 hours x 365 days = 9838kWh x 0.43kgCO2/kWh = 4230kgCO2. An Asian Elephant weighs 
between 3000 and 5000kg. For full calculation see www.carbontrust.co.uk/postercalculations.
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